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CBT Sample assessment model answers

Budgeting (BDGT)

Sample assessment 1

Task 1 (14 marks)
[image: image2.jpg](a) Match each type of data with its appropriate source.
Click on a box in the left column then on one in the right column to indicate each answer. To remove a line, click on it

Tupe of data ‘Appropriate Source

Financial Times

Competitors' prices
Trades Union

Competitors' wage rates Trade Association

/
Prices index in the country in oD s

which we operate

Statistics published by
Government (e.g. Office for
National Statistics in UK)





Task 1, continued

[image: image3.jpg](b) As budget accountant, match each task with the person or group that you will need to contact.
Click on a box in the left column then on one in the right column to indicate each answer. To remove a line, click on it

Task Contact

Trade union representative

Agree planning assumptions

for budget preparation Production manager

Set budget pay rates Human resources manager

Marketing manager
Draft the direct labour hours

budget

Budget committee





Task 1, continued

[image: image4.jpg](c) Drag each item below and drop it into its appropriate budget.

Capital expenditure Warketing 8 distribution
Replacementvenicles for sales stall Sales force salaries
Fadtory extension e of deivery venicies
Cash Flow Costof Production
Payments to suppliers Raw material usage
(Cleaning materals for producion ine

Administration

[Telecommunications charges





Task 1, continued

[image: image5.png](d) Select the appropriate accounting treatment for each of the following costs.

cost Accounting retment
Repalrs o ales offc e [locsie o maeeing rereats =
Replacementof procucton machinry [oatis and depresae rerveei e v
Raw matrl usase precwes =
Procuctacvertsing [locsie o meeing vereats =
Powsrforprocucton [Craas oproaumonin s machine hourovermeaarae Rl
Purcnasing separment [ based crrge e produde v
Productonabour-d ime [rrae e producion 2 ebour o cvereadat v
Fadoy odension [oatis and depresae rerveei e v





Task 1, continued
[image: image6.jpg]() Select the appropriate term to match each of these descriptions.

Description

A costthat fluctuates in direct proportion to changes in activity

Detailed budgets prepared by functional managers are collated to form a master
budget

Collecting data about a proportion ofthe items inthe population to indicate the
characteristics of the whole population

Aphysical or financial measure to monitor eficiency, cost, quality, etc

a

erm

[Variable cost

I

[Botiom up budgeting v

[Sampiing v

[Performance indicator v





Task 2 (19 marks)
[image: image7.png](a) Complete the following production forecast for product Q based on the information below.
Do not show decimals. Round any decimal figures up to the next whole number of units.

Closing inventory should be 12.5% of the following week's sales volume.
15% of all proguction fails quality control checks and is rejected

Production (units)  Week1 Week2 Week3 Week4 Week5
Sales volume 400 450 500 600 550
Opening inventory 75 57 63 75
Closing inventory 57 63 75 69
Saleable production 382 456 512 504
Rejected production 68 a1 91 105
Total manufactured units 450 537 603 699





Task 2, continued

[image: image8.jpg](b) Calculate raw material requirements.

Do not show decimals. Round any decimal figures up to the next whole number of ltres.

800 items of product N are to be manufactured next week.
Each requires 14 ltres of raw material

8% of raw material is wasted during manufacture.

‘The opening inventory will be 700 litres.

‘The closing inventory will be 500 ltres.

How many ltres are required for production?

How many litres must be purchased?

12174]

11974]

litres

litres





Task 2, continued

[image: image9.jpg](c) Calculate Labour hours.
Do not show decimals. Round any decimal figures up to the next whole number of hours.

65,000 items of product M are to be manufactured in May.
Each one takes 4 minutes to produce.
20 staffwill each work 175 basic hours,

How many overtime hours must be worked to complete the production? 834 hours

(@) Calculate sub-contracting requirements.
Do not show decimals. Round any decimal figures up to the next whole number of units.

7,410 tems of product X are to be manufactured next week.
Each one takes 3 minutes to produce.

350 production labour hours are available.

Any additional requirement must be sub-contracted.

How many units must be subcontracted? 210] units





Task 3 (18 marks)
[image: image10.jpg](a) Complete these three working schedules.

Materials
Each unit produced requires 0.75kg of material.
Closing inventory will be valued at the budgeted
purchase price.

Labour
Each itemtakes 3 minutes to produce.

150 staffwork 160 basic hours each inthe period,
Overtime s paid at 50% above the basic hourly rate.

Overhead
Variable overhead s recovered on total labour
hours.

Waterials Kg B
Opening inventory 50,000 50,000
Purchases 450.000) 598,000
Sub-otal s10000 556,000
Used in production 41750 550275
Closing inventory 58250 5725
Labour Hours £
Basictime @ £16 per hour 24000 384000)
Overime 5450 130800
Tota 20450 513800)
Overhead Hours £
Variable @ £3.60 per hour 20450 106020)
Fied 105,709
Total 2728





Task 3, continued

[image: image11.jpg]{b) Now complete the operating budget.

Enter income, costs and inventories as positive
figures.

Closing finished goods inventory will be valued
atthe budgeted production cost per unit

Use a negative figure to indicate  gross loss,
for example 500 or (500).

Use a negative figure to indicate an operating
loss, for example -500 or (500).

Operating budget £ per unit
Sales revenue 500000 239 1410000
Gost of goods sold ®
Opening inventory o fnished goods 150,000
Gost f production B

Waterials 560275

Labour 514800

Overhead 211725 1295800
Glosing inventoryoffinished goods 179080
Gost af goods sold 1266720
Gross profit 143280
Overheads =

Administraion 51.200)

Warketing 49.800) 111000)

Operating profit

32280





Task 4 (17 marks)
[image: image12.png](@

O]

Stratified sampling

Calculate the number of customers to be interviewed from each age group to obtain a representative

response from 1,200 interviews.
Do not show decimals. Round to the nearest whole number.

Age range >>> Upto29 301039 401049 Over4d  Total
Number of customers. 15000( 24000  42000] 18500  9gs00)
Sample 181 289 507 223 1200

Break a budget down into accounting periods
Calculate the sales revenue and cost budgets for April using the budgeted unit
data and the information below.

+ Each unitis made from 3kg of material costing £0.75 per kg
+ lttakes 5 minutes to make each item.

+ 1,250 hours of basictime is available inthe month. Any extra hours must be
worked n overtime.

+ The basic rate is £16 per hour. Overtime is paid at 50% above basic rate
+ Variable overhead relates to labour hours, including overtime.

+ Fixed production overhead costs are spread evenly through the year.

Budgeted units Year April
Units solg 216,000 18.200|
Units produced 210,000 18,000|
Budgetin £ Year April
Sales revenue 1166400 98280
Waterial used 472500 40500
Directabour 300,000 25000
Variable production overhead 77,000) 6600
Fixed production overhead 13.200) 1100





Task 4, continued

[image: image13.jpg](c) Cash flow forecast

Prepare the forecast from the operating budget and balance sheet assumptions.

Enter receipts and payments as positive figures.

Balance Sheet Assumptions:

* Receivables will increase by £2,500.
* Materials payables will reduce by £3,500.

+ Labour costs are paid in the period in which they are incurred.
« Other payables willincrease by £4,800

Operating Budget £ £

Sales revenue 103,000

Expenditure

Waterials 34,200

Labour 38,500

Other costs 16400 89,100)

Operating Proft 13.900)
Cash Flow Forecast £ £

Sales receipts 100500

Payments

Waterials 37700

Labour 38500

Other costs 11600|  &7800)

Cashflow 12700)

Show a net cash outiow s a negaive, for example -500




Task 5 (18 marks)
[image: image14.jpg](a) Budget submission

| attach the proposed raw materials budgetfor next year for your consideration and approval. This year's results are shown for comparison

This arattis based on the agreed production budget of 67,840 uits which is 6% more than this year. However, the quanity of raw material purchases
should increase by only 2 4%

The material required in each unit of production will be unchanged at 0.4kg. However, the production manager expects to reduce material wastage
from 12.5% to 10% and to reduce material inventory by 242kg (19.5%). This will be achieved by purchasing high grade material from a more reliable
supplier.

The purchasing manager supports this strategy but expects material price to rise by 5%

Overall the material purchases budget shows an increase of 7.6%, compared with this year.






Task 5, continued
[image: image15.jpg](b) Performance indicators

 number of assumptions have been mads in this budget and we need to monitor their achievement

[Raw material costs are variable and we should expect them to increase or decrease with production levels. However, we need to monitor material
usage, wastage, price and stock levels. | recommend that we review the following four indicators on  weekly basis:

- Waterial usage per unit of production
- Percentage of material wastage

- Price perkiio

- Number of days of material inventory





Task 5, continued
[image: image16.jpg](c) Forecasts

Although the production manager should take ownership of this budget there are aspects ofitwhich are notwholly within his control
Purchase prices will be negotiated by the purchasing manager. The two managers needto work together to balance qualiy with price.

Wastage is an important factor and is atleast partly dependent upon quality. The wastage level has been estimated for budget purposes and must be|
monitored carefuly.

A reduction in inventory is planned. This wil only be possible fthe supplier proves to be more reliable, as anticipated

Finally, the production manager cannot control production demand, although allowance for this can be made with budget flexing.





Task 6 (18 marks)
[image: image17.jpg](a) Budget revision
You have submitted a draft operating budgetto the budget committee.
The committee has asked you to budgetfor an alternative scenario and
calculate the increase or decrease in expected profit

Complete the alternative scenario column in the operating budget table
and calculate the increase or decrease in profit.

Assumptions in the first scenario
Waterial and labour costs are variable.

Depreciation is a stepped cost,increasing at every 10,000
uits.

There is an allowance for an energy price rise of 4%

Aternative scenario
Increase the seling price by 5%

Reduce the sales volume by 10%
Revise the energy price fise to 6%

Apart from the sales price per unit, do not enter decimals.
Round to the nearest whole number, if necessary.

Operating Budget

First draft

Alternative
Scenario

Sales price £ per unit 600 63
Sales volume as000]  75600)
B B

Sales revenue s0s000] 476280
Costs

Waterial 201600 181440
Labour 225800 204120)
Energy 17680 18020
Depreciation 5100 7200
Total 454180 410780
Gross proft 40820 ess00)
Increase | (decrease) in gross profit 15680





Task 6, continued
[image: image18.jpg](b) Variance analysis
Prepare the direct labour cost statement from the activity data provided
Enterfavourable variances as positive figures - for example 500

Enter adverse variances as negative figures - for example -500.

items x
Activity data s ours Cost

Budget 18,000] 288,000 1,728,000]

Actual results 17,000]  280,500] 1,626,900]

‘Standard direct labour cost of production 1632000
Variances (adverse shown s negative)
Labour rate 56100
Labour efficiency 51000
Labour cost 5100

Direct Labour Cost Statement £





Task 7 (16 marks)
[image: image19.jpg]Monthly Operating Report

Original

budget

Variance
Fav| (Adv)

178000 | Sales volume (units) 192000
B 3 B B
1261600 | Sales revenue 1382400 1,377,000 400
Costs
462800 | Waterials 499200 500100 ~o00
480600 Labour s18400 516500 1900
67640 | Distioution 72960 74200 1240
60860 |Energy 54640 55080 40
24000 | Equipment ire 28000 26,600 500
8800 | Depreciation 8800 8700 100
76000 |Marketing 73000 78,900 “o00
25500 | Administation 25500 24520 750
1208300 | Tota 1295600 1,296,900 EED
73300 | Operaling prfit (Loss) 35800 50,100 5700





Task 8 (20 marks)
[image: image20.jpg](a) Reasons for variances

| nave reviewed the results for the period. There was an operating profit of £198,000 compared with the flexed budget profit of £196,000. The original
budget anticipated a profit of £227,000 based on sales of 155,000 units

Compared with the original budget,the resultis disappointing andhis is atiributed to 3 loss of sales volume due to price competition. The volume
was 1% below the original budget despite our own 10% price reduction uring the year. The flexed budget calculations indicate that lost sales
should have generated a profit of £31,000 (£227,000 less £196,000). The flexed budgetis based on the original but with appropriate volume

adustments.

The unforeseen competiion has taken sales volume from us and forced us to make 10% price reductions. The fullyear impact of the price reduction
s significant and we are not confident that volume will recover fully. This situation might have been avoided with better marketintelligence and a
proactive marketing campaign

(Compared with the flexed budget there was an adverse sales variance of£29,000 (3.8%), caused by the 10% price reduction part way through the
vear

However, there was a £9,000 favourable variance on material costs (4%) where both material price and usage were lower than budgeted. Similarly
the 1abour costvariance was £1,000 favourable (12%). With production volumes less than budgeted there was less need 1o work overtime at
premium rate.





Task 8, continued
[image: image21.jpg](b) Setting and managing the budget

[To be challenging, budgets should be stretching, always striving for improvement, whilst being achievable. We can see from the operating statement
thatthe adverse sales variance was counterbalanced by unrelated and fortuitous favourable cost variances in materials and labour. It can be argued

that the budget was poorly focused, failing to address the threat of competition and not challenging managers to improve efficiency.

| recommend that we introduce closer scrutiny at the budget seting stage to ensure that budgetary slack s not permitted and that eficiency

improvements are planned and introduced. A stretching budget s ikely to motivate managers to improve performance. Variances needto be fully
analysed and explained on a regular basis and corrective action taken prompty





Task 8, continued

[image: image22.jpg]{c) Standard costing

Standard costing is an effective mechanism for bringing rigourto budgetary control. It makes sense to set standards for production resources atthe
level of a single unit of production. The standards can be multplisd by planned production levels to create cost budgets.

The system facilitates the calculation of detailed cost variances which helps managers to understand and manage the resources effectively. Looking

atthe operating statement, for example, we could analyse the material variance into the price and eficiency aspects and also see whether the labour
variance was wholly due to saved overtime premium
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